Manuals+ — User Manuals Simplified.

MSP-A008-V01
Novastar
Growable

2

Basket b

EXIT MSP-A008-V01 Novastar Growable Basket Instruction
Manual

Home » EXIT » EXIT MSP-A008-V01 Novastar Growable Basket Instruction Manual ™=

Contents
1 EXIT MSP-A008-V01 Novastar Growable
Basket
2 PARTS&TOOLS
3 ASSEMBLY INSTRUCTION
4 CONTACT INFORMATION
5 FAQs
6 Documents / Resources
6.1 References

EXIT MSP-A008-V01 Novastar Growable Basket


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/exit
https://manuals.plus/exit/msp-a008-v01-novastar-growable-basket-manual.pdf
https://manuals.plus/#exit_msp-a008-v01_novastar_growable_basket
https://manuals.plus/#partstools
https://manuals.plus/#assembly_instruction
https://manuals.plus/#contact_information
https://manuals.plus/#faqs
https://manuals.plus/#documents_resources
https://manuals.plus/#references

PARTS&TOOLS



@ (2] (3
- 1

[69.46.75.01 | 1x |* 169.46.75.02 | 1x | 69.46.75.03 | 1x |

(4 = (6
N = Y (IID

[69.46.75.04 | 1x | 169.46.75.05 | 1x | 69.46.75.06 | 1x |
[69.46.75.07 | 2x| 169.46.75.08 | 1x | 69.46.75.09 | 1x |
. @ \ /

[69.46.75.10 | 1x | |69.46.75.11 | 1x | 69.46.75.12 | 1x |

®W®@)®@

|69.46.75.13 | 1x | 169.46.75.14 | 1x | 69.46.75.15 | 2x|

=p

[69.46.75.16 | 1x | 69.46.75.17 | 1 | 169.46.75.18 | 3x|




QU]%]] Q@ (m Q) I

| M6*15 | 2x]| | M8*75 |3x |

O [y ¢ (T Q)

w70 [ 4] we60 [ 4x] wevao 21
(26 I @ (mm @ O
5 Tx]

ASSEMBLY INSTRUCTION



Port. Nr.| Qty




15

Port. Nr.| Qty




Port. Nr.| Qty




Port. Nr.| Oty




Port. Nr.

@ =G o
MB8x75 | 1x M8 | 3x

e - @ ©
[M8x40] 2x | M8 [ 2x|




Port. Nr.| Qty
17 1
18 3




Port. Nr.

10

13

14

16

ﬂﬂdﬂg




Port. Nr.

1

12

D ™ @ o
[MBx=20] 4x| M8 | ax]
@ @




Port. Nr.




Port. Nr.

I

i@
;
F®E®
£

(&
T

MBEx12

O e







@D v G 0
(M8x70] 2x]
@ = @ ©
(M6x12 [1x | M8 |4x]







2850

2650

2450

2250




Take it out
















CONTACT INFORMATION

« Dutch Toys Group B.V.
« Edisonstrat 83 7006 RB Doetinchem, The Netherlands

« www.exittoys.com
« info@exittoys.com

FAQs

« Q: How do | adjust the height of the basketball hoop?
o A: To adjust the height, follow the instructions provided in the manual. Loosen the height adjustment
mechanism, slide the hoop to the desired height, and secure the mechanism.
« Q: What is the weight of the basketball hoop?
o A: The basketball hoop weighs 20kg, making it sturdy and durable for outdoor use.

Documents / Resources

@ . ank!l‘hl!l

v EXIT MSP-A008-V01 Novastar Growable Basket [pdf] Instruction Manual
I MSP-A008-V01 Novastar Growable Basket, MSP-A008-V01, Novastar Growable Basket, Growa
e ble Basket, Basket

References


http://www.exittoys.com
mailto:info@exittoys.com
https://manuals.plus/m/e68b437cc65994cdf02ff58df8947fed29995bacc6a1c53c90c5ab994a0adaed
https://manuals.plus/m/e68b437cc65994cdf02ff58df8947fed29995bacc6a1c53c90c5ab994a0adaed_optim.pdf

« User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


https://manual.tools/?p=16446196#MTY3LjcxLjg0LjkyOzs7Ow==
https://manuals.plus/
https://manuals.plus/privacy-policy

	EXIT MSP-A008-V01 Novastar Growable Basket Instruction Manual
	EXIT MSP-A008-V01 Novastar Growable Basket
	PARTS&TOOLS
	ASSEMBLY INSTRUCTION
	CONTACT INFORMATION
	FAQs
	Documents / Resources
	References



